



Public Health Engineering Department

Government of West Bengal

Tender: NOTICE INVITING TENDER No. - 07/CSD of 2025-2026

1. General Information

Type	NIT	Category	Works	Mode	OFFLINE	Method	Open Tender
District	PURBA MEDINIPUR		Inviting Authority		Assistant Engineer, Contai Sub Division		
Tender Reference	NOTICE INVITING TENDER No. - 07/CSD of 2025-2026	Estimate Put to Tender	100000.00	Memo No	136 /CSD	Memo Date	12-02-2026
e Tender Id		Description	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District.				
Estimated Work Value	-						

2. EMD (Earnest Money Deposit) Details

Exempted?	No	Fee Type	Payable To	Payable At
-----------	----	----------	------------	------------

3. Critical Dates

Tender Publish Date	12-02-2026 03:00 PM	Sale/Submission Start Date	
Download Start Date		Sale/Download End Date	09-03-2026 02:00 PM
Last Date of Application	02-03-2026 01:00 PM	Last Date of Permission	05-03-2026 04:00 PM
Last Date of Submission	09-03-2026 02:00 PM	Tech Bid Opening Date	09-03-2026 03:30 PM
Fin Bid Opening Date	09-03-2026 03:30 PM	Tech Bid Uploading Date	
Uploading Bid Date Time		Time	

4. Pre-bid Meeting Details

Date	Venue	Address
------	-------	---------

5. Work Details

Sl No	Description	Estimated Cost (Rs.)	Completion Time	EMD (Rs.)
1	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 4 nos. 1. Khejuri-I Block @ 1000 litre x 4 nos.=4000 Litre, TOTAL= 4000 Litre	78817.00	24 (Twenty Four) days	1577.00

2	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 3 nos. 1. CONTAI- I Block @ 1000 litre x 3 nos.=3000 Litre, TOTAL= 3000 Litre	59113.00	24 (Twenty Four) days	1183.00
3	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 4 nos. 1. Deshpran Block @ 1000 litre x 4 nos.=4000 Litre , TOTAL= 4000 Litre	78817.00	24 (Twenty Four) days	1577.00
4	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 4 nos. 1. CONTAI- I Block @ 1000 litre x 2 nos.=2000 Litre 2. Contai-III Block @ 1000 litre x 2 nos.=2000 Litre , TOTAL= 4000 Litre	78817.00	24 (Twenty Four) days	1577.00
5	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 3 nos. 1. CONTAI- III Block @ 1000 litre x 3 nos.=3000 Litre , TOTAL=3000 Litre	59113.00	24 (Twenty Four) days	1183.00
6	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 2 nos. 1. CONTAI- III Block @ 1000 litre x 2 nos.=2000 Litre , TOTAL=2000 Litre	39408.00	24 (Twenty Four) days	789.00
7	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027 under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 2 nos. 1. CONTAI- III Block @ 1000 litre x 2 nos.=2000 Litre , TOTAL=2000 Litre	39408.00	24 (Twenty Four) days	789.00
8	Supply of Safe Drinking Water through Trolley Mounted PVC Tank to different Villages over Non-Tube Well Area Within different Block for mitigation of drinking water crisis in the arid zone for the year 2026-2027	39408.00	24 (Twenty Four)	789.00

under Contai Sub-Division of Tamluk Division, PHE Dte. in Purba Medinipur
District. For the Period of 24 (Twenty Four) days. Total Pin Point Site= 2
nos. 1. Deshpran Block @ 1000 litre x 2 nos.=2000 Litre, TOTAL= 2000 Litre

days

6. Attachments

Sl No	File Name
1	Schedule (1 to 8).pdf
2	WBF2911.PDF
3	Notice-NIT No. 07-CSD of 2025-26.pdf

Corrigendum: Corrigendum Notice NO.-02

Assistant Engineer, Contai Sub Division
PURBA MEDINIPUR

1. General Information

Corrigendum Id	Corrigendum Notice NO.-02	Memo No	191/CSD	Memo Date	26-02-2026
Description	Due to unavoidable circumstances different dates of the above referred NIT's(Sl No. 1 to 8) has been extended.				
Estimated Work Value	-				

2. Critical Dates

Corrigendum Publish Date	26-02-2026 05:50 PM	Sale/Submission Start Date	
Sale/Download End Date		Last Date of Application	02-03-2026 01:00 PM
Last Date of Permission	05-03-2026 02:00 PM	Last Date of Submission	09-03-2026 02:00 PM
Tech Bid Opening Date	09-03-2026 03:30 PM	Fin Bid Opening Date	09-03-2026 03:35 PM

3. Attach Corrigendum Documents

Sl No	File Name
1	corrigendum-2.pdf

Corrigendum: CORRIGENDUM NOTICE No.-1

Assistant Engineer, Contai Sub Division
PURBA MEDINIPUR

1. General Information

Corrigendum Id	CORRIGENDUM NOTICE No.-1	Memo No	168 /CSD	Memo Date	19-02-2026
Description	Due to unavoidable circumstances different dates of the above referred NIT's(Sl No. 1 to 8) has been extended				
Estimated Work Value	-				

2. Critical Dates

Corrigendum Publish Date	19-02-2026 03:55 PM	Sale/Submission Start Date	
Sale/Download End Date		Last Date of Application	23-02-2026 01:00 PM
Last Date of Permission	24-02-2026 02:00 PM	Last Date of Submission	26-02-2026 02:00 PM
Tech Bid Opening Date	26-02-2026 03:30 PM	Fin Bid Opening Date	26-02-2026 03:35 PM

3. Attach Corrigendum Documents

Sl No	File Name
2	Corrigendum Notice.pdf